
Child Education / Marriage Planning
Calculator Case Study

Mr Sunil Meheta's child is 4 years old and he wants to save Rs 1 Crore in today’s cost for his
child’s education when the child turns 21. For this purpose, he already has a running SIP in an
equity fund. The current valuation is Rs 5 Lakhs. He wants to know various investment options
for achieving the corpus assuming different rates of returns.

Assumptions:

Child Name - Hetal Meheta
Equity Fund Returns - 12% / 15% Per Annum.
Inflation - 6% Per Annum




